S018 KHAIJII

S=1:25,000

A YIPINIASF= 0 =) I ISl E

Fa

TSI

S =

LI
BRAKLEBIZEESNSKE (G 73])
2 ~

I 10~20
5 ~10

3 ~ 5

05~ 3

~05

o] kmpmmam g

=5

f o L2
A
i e
7 3\ )
) =Y {}"
™ X Vi

: i ; ) . [ ¥ : = %
) » ! 4 B \ :
! ) s = [ ey < . 77X ” i : §
; % 'L I Al T Ly L ) \ e e L 1 |
] ALy ke T > " e A r : Al b =
\ )3 AN LS { eSS ! My TR N M=y ) \ 0 g =
L L = 3 = D) ML ) e A= Jr~ad = / A =
g % = = . 1 T g T . ‘ e A ; 7 ; = :
Sl = APl A= l T ) PR = N Ly S | SN A
- s A y A S AN . =y iy o A i[ ~x - i 14 ' P Tl =
=5 s 4/ S i - il T b o 3 = & \L_i* y ] A J il AN [t
] o ¥ - 3 e PN AR (= =V Bl e v P s N
A - 71 A i} ¢ ] i = g 3 | (TR . O T T 4] RAFAS N 3
- ; I = SEb Y DEAE . >
LR ) CHIrL=0 (fe A
A 7 Ll S e [} ! 7 ; ] > ANAS = -
E = TAHIL 3 : / Weliie —_—
oo - = \ f IS =
- | ’ \ A= 3 T f !

i

2

e

(1) ZOARERBREBRL. ENDKRABENORIAEEST SEMIZDNT. Kbk
[ZRSCGEKFBANNBRUREBHOFANTREBYF AN, HEREOBBRIZL
UiRAKHNBREShARSE, BAKLBEIEEShIKFERTLEEETT .

(2) COBEIE. B ROKBEN OFERREEEL T, BRI 2HED
BEREGHBRI0FICIERERSAKICLIYRBBNHANTELBEDRK
DRREMBAGEL 2L —2av LY FRLELOTY .,

(8) &H. COMBNAELIAL—avOREIHI->TIE, ZNDODE, >3aL—
LAvMERELIBEBERADRBUOBHIZLHLE. BHRUAKIZEDDE
FEEELTOELADT, CORICREATUVELERIZEWTHE KA RET
HBEVPBEShIKESAREBORKELRLIBENBYES.

2 HARHS
(1) fEREERK I BB UL U+ BE (ARG 52
(2) fERisEABE FAI31438
(3) wHELLHAN
ENKRKXBENN
(RFEEM)
ER:wmUmENETR LSRR 1 6eH it/ M AN STIIRNIERRE

T
H5:F HE BR EAEHF168KIL/MIRENLTITRINERAET

(4) FTRLGLAME  HUKIEERM (29395 ROBHE
1/104R 48 (R 8 51mm)

FEFsaE 1R S YICRET 5L78mm/h
(5) BAFRTETH WS

(6) FOMHEENS

@ ORI, ENKRXBSNORNEESTIERM T, MBNGFEICEYEBAR

Eﬁ}%ﬁ?%wﬁiﬂb@ﬁéhéﬁm BKLIBEICHMEShAKEERT
=[] -

@ ORI, KAEZNOLE2. (3)IRELEEMIcELTLERITHAREER
IZfFR L= O TT,

@ DERNIHHTIE. DNODEICL2E. HKBIBLENKLEERSOHE
[FEMEL TLVER AL

@ DERTHAIHEEMEZ10mBAOHEF (FEREAV 20 ZHEILT. Ch j
g:J;gtL'CJKEEHIL'CL\éf:&).ﬁﬂﬂﬁi[:dzéﬁ#ﬁ‘ﬁﬂ'ﬁéﬂuﬂﬁﬁ*

B ORI, DERRHEERIOHE AV A LOBESKETHEL, TOE
RERTLTVET,

® AEORE . FRIGEENSEROEEICHASN-MZL—FNET—4%
FERALTHERLTEY. FOHME L KETOMBIARERTELOED . R0
ERESEEY B TERMES A H D0, BANBRShIES, Bkl
ERESICAEShAKENEROBKEERLSGSHHYET.

e T ey = L

e, A

0 2
T ——
km




